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(a)initial sound intensity= W/m?2

01: ANS:=10E-6

(b)amplitude of the sound wave, S,,= m
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Problem 1
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Problem 2
Answer the following questions: (04/)\Z8)

(a)An organ pipe with both ends open is 0.85 m long. Assumlng that the speed of sound is 340 m/s, the

frequency of the third harmonic of this pipe= Hz E .3 2% =9y
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(c)The speed of sound in air is 340 m/s. Find the length of the shortest pipe, closed at one end and open at the
other, that will have a fundamental frequency of 512 Hz. length= cm
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(d)The sound intensity 5.0 m from a point source is 0.50 W/mZ2. The power output of the source= W
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Problem 3
A stationary motion detector sends sound waves of frequency 0.150 MHz toward a truck approaching
at a speed of 45.0 m/s. What 1s the frequency of the waves reflected back to the detector?
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the frequency of the waves reflected back to the detector= Hz ’:1__3, 0
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Problem 3

The explosion of a firecracker in the air at a height of 40 m produces a 100 dB sound level at the
ground below. What 1s (a)the intensity of the sound on the ground and (b)the instantaneous total

radiated power, assuming that it radiates as a point source? (02/)\F**
§,= U0 -3¢ 1«0
= :

(a)intensity= SI unit r-Ve ! 3¢3—us
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(b)the instantaneous total radiated power= W
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100 dB = 10log(Iy/1,) = logly + 12, thus logIy = =2 and
I, =102 w/m®; P = IA = (10~2 w/m?)(4nr2) = 201 W.



B 12 gEgzm-i14w-: EEREREMNBHFEIREIESCUMOER ? (A)isothermal free expansion
(B)adiabatic free expansion (C)isothermal free compression (D)adiabatic free compression
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Problem 6

338 B PR TBIR B 4E abca BEHUEERASHIIER - 4AcERVZIER

pp =15kPa fl poe =2.5kPa s E ° 2 a, T=200K * (a) ZmPEZ
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(a)number of moles of gas are in the sample= Q:J
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(b)the temperature of the gas at point b= K = [)m-
22: ANS:=3.6E3
(c)the temperature of the gas at point ¢= K
23: ANS:=600
7 2500Pa)(1.0m’
(d)the net energy i pl _ ( . )[ ) £ Sl
24: ANS:=12500 RT (8.31 Jmol-K) (200K)
V. T 7.5kPa |( 3.0m’
Po’s =25 — T =(200K) | = ][ :
vV, T, 2.5kPa )| 1.0m’
T =18xX10°K
V. T 2.5kPa |(3.0m’
Ple =2 o 7 = (200K) | == 3
p.V. T 2.5kPa /]| 1.0m
T.=6.0x10" K.
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(E.Omi) (5.0 x 10° Pa) =50x10°J.
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Problem 8
EE NHNSERER - £12EKEE (B)1.00atm 2% 1.01 x 10°Pa) § - #8 1.00 kg + 100°C FYREEKEE(L
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